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5.1 COMBAT-PHASES 
The combat is divided in the following phases:

1 Air Combat

2 Artillery Combat (Shore Bombardment)

3 Shore Defense Combat (amphibious attack only / first round only)

4 Land Combat

After one round of combat both the attacker and the defender have the option to retreat their air units or all their units (see Retreat).

The attacker tells what area he will attack and moves his units into this area. The defender has the possibility to move adjacent fighters into the area being attacked as Defensive Air Support. Then the attacker assigns his fighters to AirCap and/or TacAir. After this is done the defender assigns his fighters to AirCap and/or TacAir.

5.2 Phase I: Air Combat
1 Air Defense Combat

2a Attacking AirCap units fire at defending air units (both AirCap and TacAir)

2b Defending AirCap units fire at attacking air units (both AirCap and TacAir)

3a Attacking TacAir units fire at the planes that attacked them (or they fire during step 4a)

3b Defending TacAir units fire at the planes that attacked them (or they fire during step 4b)

4a Attacking TacAir units fire at defending land units

4b Defending TacAir units fire at attacking land units

Step 2 and 3: Air-to-Air combat (AirCap fire at AirCap & AirCap fire at TacAir & TacAir fire at AirCap)

Step 4: Air-to-Land combat (TacAir vs. land units)

The main concept of air combat is that a unit that is attacked by a certain unit, must defend against this attacking unit if it was hit. If it was not hit it may choose to attack other units.
Step 1: 

The anti-aircraft gun in the area fires unaimed at all enemy planes. At a die roll of 1 an enemy plane is shot down. 

Step 2a:

The active AirCap fighters may fire at both AirCap and TacAir units of the passive player (“defender”). The active player aims his planes to fire at specific enemy air units. Multiple units may aim at the same target.

An AirCap fighter fires at a specific enemy AirCap fighter. 

Here we can distinct two cases:

Case 1: The AirCap unit of the passive player was hit by AirCap fighter of the active player:
The AirCap unit of the passive player must defend against the AirCap fighter of the  active player 

Case 2: The AirCap unit of the passive player was NOT hit by attacking AirCap fighter:
     
The AirCap unit of the passive player may choose: defend against specific AirCap fighter or ignore the attacking AirCap fighter and fire at a specific TacAir unit 

An AirCap fighter fires on a specific enemy TacAir unit. Here we can distinct two cases.

Case 1: The TacAir unit of the passive player was hit by AirCap fighter of the active player:
The TacAir unit of the passive player must defend against the AirCap fighter of the active player 

Case 2: The TacAir unit of the passive player was NOT hit by AirCap fighter of the active player:
The TacAir unit of the passive player may choose: defend against specific AirCap fighter or ignore the attacking AirCap fighter and attack a specific ground unit (= performing a TacAir mission)

Phase 2b:

Now the passive player (the “defender”) uses his AirCap units to fire at the active players (the “attacker”) AirCap and TacAir units.

Apply the same rules.

Phase 3a:

The active TacAir fighters and bombers fire at the passive AirCap that fired at them. Use their defensive combat value (although these planes are actually part of the attacking force).

Phase 3b:

The passive TacAir fighters and bombers fire at the attacking AirCap that fired at them. Use their defensive combat value.

Phase 4a: 

The active TacAir fighters and bombers fire at specific land units. The passive (defending) land units that were hit must defend against the TacAir fighter; use their defensive combat value, which is halved.

Land units that were fired at, but not hit, may choose to ignore the TacAir unit(s) and conduct land combat.

Phase 4b:

The passive TacAir fighters and bombers fire at specific land units. The active (attacking) land units that were hit must defend against the TacAir fighter; use their defensive combat value, which is halved (although these units are actually part of the attacking force).

Land units that were attacked, but not hit, may choose to ignore the TacAir unit(s) and conduct land combat.

NOTE: the above is true for both defending TacAir fighters and bombers.

- Summary for AirCap units:
A AirCap unit that was attacked and hit by a AirCap unit is forced to defend against this AirCap unit.

A AirCap unit that was attacked by a AirCap unit but was not hit, may choose to ignore the attacker and attack a specific enemy TacAir unit.

- Summary for TacAir units:
A TacAir unit that was attacked and hit by a AirCap unit is forced to defend against this AirCap unit.

A TacAir unit that was attacked by a AirCap unit but was not hit, may choose to ignore the attacker and attack a specific enemy ground unit.

TacAir fighter performs TacAir mission: TacAir unit (fighter or bomber) attacks specific land units. These attacked land units defend on half their defensive strenght.

TacAir unit vs. land unit: consider air unit as 'attacker' and land unit as 'defender'. Even if the TacAir unit is actually part of the defending force.

-TacAir units when no friendly land units present (SPECIAL RULE 1)
If TacAir units fight land units without being accomplished by land units the opposing land units do fire upon these TacAir fighters and bombers. The check is made at the start of each combat round. 

The above is true for both the attacker and the defender. Because of this rule it is very probably that the TacAir units will retreat.

NOTE: This rule is needed to deal with the situation of a few TacAir units attacking lots of land units at hardly any risk: the defensive strength is halved and only land units that are attacked themselves can defend against the TacAir!

Examples:
Two German infantry units, two fighters and a bomber attack five British infantry units and one fighter. The German player assigns 1 fighter to AirCap. The British player also assigns his fighter to AirCap. 

The German AirCap fighter scores a hit at the British AirCap fighter; the latter misses. The two German TacAir units each aim at an infantry unit. Both miss. The defending infantry units choose to defend against the TacAir fighter and the bomber. They infantry defending against the TacAir fighter misses; the one defending against the bomber scored a hit. 

The two German infantry units score one hit. The British player marks one infantry unit as hit. The five British infantry units score three hits. The German player removes the two infantry units. As there are no more land units left the third hit is lost.

The German player continues the attack. As it is 1 AirCap fighter and 1 TacAir fighter against four infantry now the defending land units may defend against the TacAir unit now. Every hit that is scored by the British infantry units during normal land combat now hits the attacking TacAir unit. 

-TacAir units when no enemy land units present (SPECIAL RULE 2)
One is not allowed to assign units to TacAir when no enemey land units are present. As the attacking TacAir units can only fire at land units they cannot fire at all. So this is not an actual combat move!

So lets sum up what can happen in some specific situations.

First column discribes the attacking force: only AirCap, only TacAir or only Land Units.

Firt row describes the defending force: only AirCap, only TacAir or only Land Units.

Mind that the attacker always assigns his units first. So the defender can respond. That’s why some of these combat situations probably will never occur (like TacAir vs. TacAir).

Specific Combat Situations

Attacker Defender
AirCap
TacAir
Land

AirCap
AirCap vs. AirCap.

This lasts until one side has lost all his units or until one side retreats. The attacker can never conquer the area under attack (as no land units are there)
AirCap fire at TacAir. TacAir units can only defend if they are aimed at!

(So it is very stupid to assign your fighters to TacAir when you are onlyattacked by AirCap units)
AirCap units can NOT fire at land units. No combat happens!

(So this is not an acutal combat move)

TacAir
AirCap fire at TacAir. TacAir units can only defend if they are aimed at!

(So it is very stupid to assign your fighters to TacAir when you attack air units only)
TacAir units can NEVER fire at other TacAir units. So no combat happens!

(So this is not an acutal combat move – apply SPECIAL RULE 2 )

Probably the defender will assign all his units to AirCap as these can fire at the attacking TacAir units.
TacAir units fire at specific land units. Apply SPECIAL RULE 1 (see above)

Land
The land units cannot fire at the AirCap units. And the AirCap units cannot fire at the attacking land units. So no combat occurs. The defending AirCap units have to retreat.
TacAir units fire at specific land units. Apply SPECIAL RULE (see above)
Normal land combat takes place.

5.3 Part II: Artillery
Artillery units fire after TacAir. Attacking and defending artillery units fire at the same time. Casualties are removed immediatelly. Artillery units do not aim at specific unis. If a TacAir units fires at an artillery unit (which has not fired yet!) this artillery unit may choose to defend against the TacAir unit (at half of its strenght offcourse). Or it may choose to ignore the attacking TacAir unit and to perform its normal artellery shot.

NOTE: These rules solve the problem of artillery units firing twice in one combat round when being attacked by a TacAir unit AFTER the artillery shot (when following the Xeno rules).

5.4 Part III: Shore Defense Combat (page 12)
During the first round of an amphibious assault the defender may conduct shore defense. All land units (infantry and armor) defend at their normal strenght. Casualties are removed immediatelly.

Units that defended against TacAir units may not conduct shore defense. Shore defense takes place in the first round only. 

The defender may not retreat after shore defense combat, as that would be a retreat during a round of combat. Retreats are only possible after a round of combat is concluded.

PRIVATE 
5.5 Part IV: Land CombatTC  \l 1 "5.5 Part IV\: Land Combat"
In this phase the remaining active infantry and armor units which did not perform action already give undirected fire against any enemy ground units in the area. 

5.6 Breakthrough Combat

Breakthrough Combat allows qualified units to actually perform a second combat move to an​other adjacent area. 

Breakthrough Combat may only occur after all normal combat in the Combat Phase has been resolved. Thus, Breakthrough Combat may never be used to provide additional forces for combat in other areas. Breakthrough Combat can be used to attack en​emy units that have retreated.

Breakthrough Combat may only be performed by the attacking player. Only armor, Tech-2 infantry and  TacAir fighters may participate in Breakthrough Combat.

Units can qualify for Breakthrough Combat in two ways:

1 They took part in battle that was won and in which the attacker had air supriority: at least one AirCap fighter survived this battle.

2 The first enemy controlled area they entered was empty.

Units performing an breakthrough attack on an area must have participated in the same battle. This means that breakthrough units that took part in different battles can never attack the same area during Breakthrough Combat. 

Breakthrough units that took part in the same battle can attack different areas: from one conquered area several areas can be attacked during Breakthrough Combat.  

Once a unit retreats, it is no longer eligible for Breakthrough Combat.       

5.6 Retreat
After each round of combat both the attacker and the defender have the possiblity to retreat. First, a player may retreat all air units (and thus continuing the attack without its air units). Second, a player may retreat all its units (and thus the combat ends).

First the attacker declares if he retreats his air units or all of his units. If the attacker retreats all of his units the combat is over and the defender stays in control of the area.

If the attacker does not retreat or only retreats his air units the defender has the possibility to retreat. The defender declares if he retreats his air units or all of his units. If the defender retreats all of his units the combat is over and the attacker gains control of the area. If the defender does not retreat or only retreat his air units the combat continues into the next round.

You cannot retreat 'from nothing': when the attacker has no units left the defender has to stay in the embattled area; when the defender has no units left the attacker has to stay in the embattled area.

The attacker may retreat to any one area that was friendly from the beginning of the turn .The defender may retreat to any friendly area not under enemy attack. 

During a naval battle the units may retreat to any empty or friendly seazone.

5.7 Forts/Fortifications (page 14)
There are three Fortifications on the map: the Siegfried Line, the Maginot Line and Gibraltar. Once a fortification has been captured the fortification becomes useless and is never considered again.

5.7.1 Effect of a Fortification
A fortification supplies the infantry units of the original owner with double defense. All other units and infantry units of allies defend normally.

Exception: Non-British infantry units also have double defense when located in Gibraltar.

1 The Siegfried Line (Germany)
German infantry has double defense. All German units other then infantry defend normally. All other Axis units defend normally.

2 The Maginot Line (France)
French infantry has double defense. All French units other then infantry defend normally. All British and American units defend normally.

3 Gibraltar (UK)
All infantry units have double defense. All other units defend normally.

5.7.3 Double Defense
Each unit 'behind' a fortification line has double defense. This means that such a unit must be hit twice to be removed from play. When such a unit is hit once flip it on its side to indicate it has been hit one time.

When the defender wins the battle a left over 'half hit' is ignored. This unit is not removed from play. When the defender chooses to retreat his units a unit that is hit one time is removed from play.

Examples:
Six German infantry and 2 armor units from Frankfurt attack 4 French infantry and 2 British infantry in Reims. The French infantry has double defense; the British infantry defends normally.

In the first combat round the German player scores 3 hits. The French player has several options to allocate these hits.

He can remove 1 French infantry (thus satisfying 2 hits) and flip another French infantry on its side to indicate 'half a hit' (thus satisfying 1 hit). He can also remove 1 British infantry (thus satisfying 1 hit) and flip 1 French infantry unit on its side.

Eight American infantry and 3 armor units from Nancy attack 5 German infantry and 2 German armor units in Munchen. The German infantry has double defense; the German armor units defend normally.

In the first combat round the American player scores 3 hits. The German player chooses to remove one infantry unit and to flip one infantry on its side. In the second combat round the American player scores 2 hits. First he has to allocate 1 hit to the unit that was already hit once. This unit is removed. The other hit can be allocated to an other unit that has double defense or to a unit that defends normally.

If the American player had retreated after the first round the unit that was flipped on his side was removed from play. If the German player had retreated after the first round this unit was also removed from play.

5.7.4 Double Defense when attacked from areas not adjacent to the fortification line
If an area containing a fortification is under attack from both an area adjacent to the fortification line and from an area not adjacent to the fortification line the following happens.

The attacker must keep seperate the units attacking from the different areas (He can, for example, place one group of units in the bottem of the appropiate column on the battleboard and the other group of units on the top of the appropiate column. The defending units that are hit by the attacking units that do not attack through the for​tification line defend normally. All other defending units have double defense.

Examples:
4 German tanks in Frankfurt attack 5 French infantry in Reims. They are joined by 1 armor and 1 infantry unit that attack from Calais. The units from Frankfurt attack through the Maginot Line; the units from Calais do not.

The German places his units on the battle board in such a way that he can distinguish between units from Frankfurt and units from Calais.

The units from Frankfurt score 3 hits; the units from Calais score 2 hits. The hits scored by the units from Frankfurt are 'halve hits': the French player must remove 1 infantry unit from play and flip one on its side to satisfy these 3 'halve hits'. The hits scored by the units that have double defense (including the three units hit) must be applied to the German forces attacking from Frankfurt.

The hits scored by the units from Calais are normal hits: the French player must remove 2 units to satisfy these hits. HIts scored by these 2 units must be applied to the German forces attacking from Calais.

As a result the French player has two infantry unit left, of which one is flipped on its side. When the German player retreats this unit that has suffered a 'halve hit' is reversed to its normal position. When the French player retreats this unit is removed from play.

NOTE: The Xeno rules give the units defending a fortification line a defense bonus of +1 (Siegfried line) or +2 (Maginot Line and Gibraltar). This bonus is not used if there are units attacking other then through the fortification line.
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The defending stats of a naval unit are not halved when defending against TacAir units.

2 Naval Interception
All rules considering naval interception are deleted. Naval units cannot perform interception. Naval units cannot be intercepted by planes. Mind that the defender is allowed to assign adjacent fighters to a naval battle.
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Red: active AirCap fires (2a)

Dark Green: passive AirCap is hit and MUST defend against active AirCap (2b)

Light Green: passive AirCap was not hit and may choose (2b)
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Orange: active TacAir unit was hit (during 2b): must fire at passive AirCap (3a)

Red: active TacAir unit was not hit (during 2b): may choose (3a)

Dark Green: passive TacAir unit was hit (during 2a): must fire at active AirCap (3b)

Light Green: passive TacAir unit was not hit (during 2a): may choose (3b)

